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1. Immediately after getting the Booklet read the instructions carefully,
mentioned on the front and back page of the Question Booklet and do not
open the seal given on the right-hand side, unless asked by the Invigilator.

Write your Roll No., Answer-Sheet No in the specified places given above
and do your sngnaturc

3. Make all entries in the OMR Answer-Sheet as per the given instructions,
otherwise Answer-Sheet will not be evaluated.

4. After opening the seal, that the Question Booklet tai
total no. of pages as mentioned above and printing of all the 100
queltions is proper. If any discrepancy is folmd, infom the

g ithin 15 mi and get the tl klet.

8. For each question in the Question Booklet, cho,ose the correct/most
appropriate option out of four options given below the question as answer
and darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question. Darken the
circle only with Black or Blue ballpoint pen.
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*

Darken the circle of correct answer properly, otherwise answers will not be
evaluated. The candidate will be fully responsible for it.

7. There are 100 objective-type questi in this Question Booklet
1 mark is allotted for each correct answer related to GK and 2 marks is
allotted for each correct lated to subject. ¥« mark will be
deducted for each wrong answer.

8. Do not write anything anywhere in the Question Booklet and the
Answer-Sheet except making entries in the specified places, otherwise
OMR Answer-Sheet will not be evaluated.

After completion of the examination, only OMR Answer- Sheet and cover

page of Question Booklet are to be handed over to the Invigilator. Carbon”
copy of the Answer-Sheet and Question Booklet be taken away by the

©

examinee.
10. This Question Booklet consists of the following Parts :
FIRST PART : General Knowledge Q. Nos. 1-50
SECOND PART
Section—II : Q. Nos. 51-100

» Origin of Audiology, Its growth and development (since World War II} «
Its growth in India ¢ Scope of Audiology, Branches of Audiology «
Audiovestibular system ¢ Physiology of the external, Middle and irurer
ear, central hearing mechanisms, cochler microphonics, action
potentials, theories of hearing (AC and BC}, Theory of bone conduction ¢
Vestibular system * Causes of hearing loss ¢ Role of hearing * Sound
Pressure, Power and Loudness, Physical and psychophysical scales,
Equal loudness conours, frequency weighting curves, combined sources,
pitch and timbre, Physical and psychophysical scales. Fourier analysis
of complex tones * dB concept ¢« Phones and Sones * Calibration
Definition, Etilogy, Characteristics and classification of » Deffinition,
Etiology, Charactgeristics, classification and impact of

Section—[II : Q. Nos. 51-100
(1) Anatomy of heart, (2} Physiology, (3} Pathology, (4) Pharmacology, {5}
Clinical cardiology

Section—IV Q. Nos. 51-100
{1) Understanding disability, {2) Definition, types and educational needs
of children with disabilities, (3) definition, types and educational needs
of children with disabilities, (4) early identification and intervention, (5}
Human Resource in Disability sector

Section—V Q. Nos.. §1-100
(1) Electronic components-—Passive components, Active components, (2)
Basic electronic circuits and digital electronics, (3) Digital hearing aids
and electroacoustic evaluation, (4) Group hearing aid system and
assistive listening devices

First Part is compulsory. Choose any one from Second Part
(Sections—II, III, IV, V) related your subject.

In case of any ambiguity in Hindi version, the English version shall be
considered authentic.
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FIRST PART / U8 W

1. The disease in which a person can

3.

4.

see the near objects while far objects
are not visible is called

(A) Myopia

(B) Hyperopia

(C) Presbyopia

(D) Astigmatism

Average life span of red blood
corpuscles is

(A) 80 days—100 days

(B) 100 days-120 days

(C) 120 days—140 days

(D) 90 days—-120 days

The enzyme that is necessary to
bring about clotting of blood is

(A) Thrombopeptidase

(B) Thrombolipase

(C) Thrombokinase

(D) All of the above

The World Malaria day is celebrated
on

(A) 14th February
(B) 25th April

(C) 20th August

(D) None of the above

1.

2.

30

4.

g T, Forom w =afts o fedm awgati A
W@ hal § W | @@ axgd @ T
forad eft, e &

(A) TR

(B) ErEUIYE
(C) dHaTET
(D) RemRfesn

o SRRt w6t efea Shed-e B
(A) 80 fm-100 f=

(B) 100 f&—120 f&a

(C) 120 f&F-140 &=

(D) 90 f&F-120 &=

TR T o TN & fTT STawErE TEEE §
(A) esiafeest

(B) dreersas

(C) dairemTETst

(D) ST w:h

faa wafen feaw wamn s @

(A) 14 HE R

(B) 25 310« &t

(C) 20 R @l

(D) 37w # @ K T
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Persons working in asbestos-related
factory generally suffer from

(A) Minamata disease
(B) Emphysema disease
(C) Kidney disease

(D) Myopia

Find the missing humber :
8 | 10 | 46
11 | ? | 37
13| 6 | 44

(A) 5

(B) 7

(C) 8

(D) 9

Using the following figures, find
when 4 is at the top, which number
will be at the bottom.

(A) S
(B) 3
(C) 6
(D) 2

. Ais 40 m south-west of B, Cis 40 m

south-east of B. C is in which
direction of A?

(A) South
(B) West
(C) East
(D) North-East

5. YW ¥ gafud srEn § w1 w9 T

=fer e fifeq 89 8
(A) TommETn T
(B) wrHEHT U
(C) Fm AR
(D) TR @
. Torqqe den it 3@ FR
8 | 10 | 46
11| ? | 37
13| 6 | 44
(A) 5
(B) 7
(C) 8
(D) 9
. fFrefaftaa fEl o syam w ga Hie 7w

ik 4 IR E, A = w-A H ET?
(A) 5

(B) 3

© 6

(D) 2

A, B¥ 40 fix sRor-aim # &, C, B
40 i =faor-gd & ®1 €, A #I orw femm
H &7

(A) =&

(B) ufim

©

(D) ST

SPACE FOR ROUGH WORK / W %M % g s
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9. If A=6, RUN =19, then LAT = ? 9, e A=6, RUN=19, @1 LAT = ?

(A) 21 (A) 21
(B) 25 (B) 25
(C) 29 () 29
(D) None of the above (D) S & & FE T

10. How many triangles are there in the

following figure? 10. = fow e fom & fona Prygw 87

NN N\ L/

A) 20 (A) 20

(B) 25 (B) 25

(C) 30 (C) 30

(D) None of the above- (D) SE®.H A B - —
11. An electronic path that sends | 11, Fw@ % TF WM @ q@t 9w & Rwe A

signals from one part of computer to FTERE AL |

another is

(A) logic gate @) i e

(B) modem (B) wiea

(C) bus (C) ==

(D) serial port (D) wifeaer 0ié

SPACE FOR ROUGH WORK / & #® % fU s
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12. A joystick is primarily used to/for

13.

14.

15.

(A) print text
(B) computer gaming
(C) enter text

(D) draw picture

Every computer connected to the
internet is identified by a unique
four-part string, known as

(A) IP address
(B) host name
(C) domain name

(D) None of the above

Which is the most common
language used in web designing?

A) C
(B) C++

(C) PHP

(D) HTML

The technology used to provide
internet by transmitting data over
wires of telephone network is

(A) transmitter
(B) diodes
(C) HHL

(D) DSL

12. Joystick & Rt ST g R

13.

14.

15.

& o)

(A) T2 @l fie w4

(B) =g Afem

(C) TR F TR HH

(D) TR = g F

T A I W R TEF unique

four-part string ¥ UgEMT ST ¥, W
-

() 3o Ho AW

(B) B W

(C) == AW

(D) 39 & / HIE T

J5 fesmfm & o we@ st wa-d
TIHTRT AT o1 ST foman 87

@A) C

(B) C++

(C) PHP

(D) HTML

e YT W % e fRm s

T PN AeaH F GER W data
transmit 1 STl 87

(A) transmitter
(B) diodes

(C) HHL

(D) DSL

SPACE FOR ROUGH WORK / & &/ & faq g

8201 /ND-STR/RCE-M/10-C



16. Which bank of India has introduced

17.

18.

Iris Scan Authentication’ feature for
the first time for Aadhaar-based
transaction?

(A) ICICI Bank
(B) Axis Bank
(C) State Bank of India

(D) HDFC Bank

V. S. Naipaul was awarded Nobel
Prize in

(A) 2000
(B) 2001
(C) 2002

(D) 2003

The 44th Khajuraho Dance Festival,
2018 was held in which district?

(A) Ujjain
(B) Indore
(C) Gwalior

(D) Chhatarpur

16. Wi % frm o 3 wam SR ‘smefw @

17.

18.

ARFTA FieR, Sur-snuiia e
% fore @y fwn 27

(A) 3Ro Hio 2MMgo Hio 31130%
(B) UfFd o
(C) W2 =% 3T i

(D) THo ‘é’fo Tho lfﬁo ﬁ?:ﬁ

dto T@o R wl R ad TEE TEER
e g’

(A) 2000
(B) 2001
(C) 2002

(D) 2003

TR #4491 I FURE, 2018 fRE
o ot o fwen men?

(A) IS
(B) K
(C) TERRR

- (D) @Y
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19.

20.

21.

22.

Which country’s Hockey team has
won the Sultan Azlan Shah Cup,
2018?

(A) New Zealand

(B) Australia

(C) England

(D) None of the above

Which Indian sportsman has won
Asian  Billiards  Championship,
2018?

(A) Subhash Agrawal
(B) Pankaj Advani
(C) Manan Chandra

(D} None of them

The former Governor of this State
Late Balram Das Tandon belongs to
which State?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Haryana

(D) Punjab

Which disease has struck badly the
Durg City very recently?

(A) Malaria

(B) Dengue

(C) Hepatitis

(D) Cholera

19.

20.

21.

22.

YodH IS WE %Y, 2018 H Tt
HA-H 0 ] gleht T A

(A) =pficts

(B) wrtefern

(C) e

(D) 39 & | g T

g ard Raerd go R e
SAffEAfim, 2018 sftar m@&?

(A) gAY I|ETA
(B) U 3Tr=AOi
(C) W T

(D) 3ugh ¥ ¥ IS T

39 TST % JAqd TS Wiy Se’m 56
Ze frg TS @ Tl €7

(A) S oW

(B) weA ol

(C) st - B
(D) ST

fora ST Y T @ F gl T W T
gt fomam &7

(A) wafEn

(B) 31,

(C) hicwn

(D) &1

SPACE FOR ROUGH WORK / T %® & fqu w7
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23.

24.

25.

26.

Geological Survey of India has given
indication of copper reserve in which
of the following districts of this
State?

(A) Rajnandgaon
(B) Bastar

(C) Surguja

(D) All of the above

Which place does this State occupy
in Kickboxing in India?

(A) Second

(B) Third

(C) Fourth

(D) None of the above

Sulakshan Kulkarni has been
associated as a coach of which game
in this State?

(A) Cricket

(B) Football

(C) Table Tennis

(D) Tennis

Totem’ is the symbol of which of the

following units of tribal society in
this State?

(A) Family
(B} Gotra
(C) Community

(D) Race

23.

24.

25.

26.

e q-mffr w@Ew % @ TS &
fefafag & @ fre f & dfen (FTR) *
SR B i 30 ferar 27

(A) TSHIETTE
(B) s&R
(C) wuEsT
(D) ST @ft

Trer SifRAT & 39 TS B WG T R WH
27

(A) U
(B) dau
(C) =hem
(D) 3w ¥ @ &g 7

e Fawell 3@ Tsa 7 frw ww @ we
FeqH IS WE?

(a) foroke

(B) et

(€) =w-fa- -
(D) =

W U W S e HO9RW
Frafefaa & & fra 31 1 g 27

(A) dREm

(B) M=

(C) v

(D) srsmfe

SPACE FOR ROUGH WORK / W %M & faq s
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27.

28.

29.

30.

Which of the following is not used by
the tribes of this State for creating
artistic objects?

(A) Wood

(B) Metal

(C) Soil

(D) Ivory

In which of the following regions of

this State, the ‘Halbi’ dialect is
largely spoken?

(A) Bastar
(B) Surguja
(C) Raigarh
(D) Raipur
For how many days the

‘Danteshwari Puja’ is performed by
the tribals of Bastar in this State?

(A) Six

(B) Seven

(C) Eight~ -
(D) Nine

At which of the following tourist

places in this State, the ancient
Devrani-Jethani Temple exists?

(A) Malhar
(B) Pali

(C) Tala

(D) Dhanpur

27. FoTeAs aggent & fmi § @ T f

28.

29.

30.

Sl g Ffafaa ® @ e s
& foman e 27

(A) RS
(B) o1g
(c) ™2
(D) TefiRra

™M TSI ¥ Fefafed § @ fea @ |
‘Teelt’ dicht walfes el st 27

(A) s&R
(B) wIgsm
(€ e
(D) T

34 U9 § SR Y Senfoat g e A
% g’ it S 27

A) ®:

(B) wm

(C) 23

(D)

W 159 % fafafas § @ fre we v
# gl at-SieH i f@m 77

(A) weER

(B) wreft

(C) e

(D) &

8201/ND-STR/RCE-M/10-C
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31.

32.

33.

Choose the most appropriate
sentence that expresses the
following sentence in direct speech :

He told Ann that she could phone
from his office.

(A) He said to Ann, “Phone from my
office.”

(B) “You can phone from my office,
Ann,” he said.

(C) “You can phone office, Ann,” he
said.

(D) “Phone from the office,” he said.

Find out the correctly spelt word.
(A) Appearance
(B) Appiarance
(C) Appearence

(D) Appearrance

Choose the noun that is always
singular :

34.

35.

We'’re lending money to people like
I I II
yourself.
v

Which part of the above sentence
has an error?

(A) I

(B) II

(C) I

(D) IV

Select the alternative which best
expresses the following sentence
into its active form.

The old newspapers were thrown
away.

(A) ~They threw the old newspapers.

(B) They had thrown the old

newspapers.

(A) Furniture
(C) They have thrown the old
(B) Knife newspapers.
(C) Baby
(D) They threw away the old
(D) Tooth newspapers.
SPACE FOR ROUGH WORK / ™ %M % fau smg
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36.

37.

38.

39.

‘Jg Jaf T -SE &l 21 39 a9
=+ fom 2

(A) ATTRIHRAT AUH

(B) eshrferer fopa

(C) srgrfa s

(D) TR wgeh foran

‘qae it we st % R werea @ o1 R
(A) s ety § Hee

(B) Greht gHftsra forelt Tk & R
(C) &= i Feftaa gergm

(D) ST wft

‘e’ 1 e wes faRag
(A) T

(B) =®

(C) T

(D) g

‘M’ =1 faemeff e fafex :
(A) Tenfeam

(B) Fem

(C) wfen

(D) feh

40. = FeEa &1 e TRy

41.

42.

O W T g R W | 9 I
(A) T e FHE HET, Y AT F QA

(B) = @ w o, @ B R
AT

(C) T % HRl I T 1

(D) BN EA N Ter@ wE B IR IfE
T

FrefafRaa s 1wt S =0 qm?

A % T AT Ia-gd M AW =
2

(A) TSRSl % g T SaT-gid M A
T &1 -

(B) IRt o T HA IaT-gd Tenad &
& s @

(C) ISR ¥ W WA Iai-gd M @@
Ty |

(D) A & T WA IAi-gd M &
ERIOf

‘i’ =t faiimefi wres fafley
(A) =%

(B) T

(C) ¥

(D) F=X

SPACE FOR ROUGH WORK / & #® & o smg
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43. ooy vsE 1 ot § 47. ‘Soft’ v w foem }
(A) =f & e A)
(B) ¥ @AM (B) T W el
(C) & & TN (C) Trem
(D) 36F U (D) W&t
44. ‘Tu w5 IS o & 48, Prfafaa weal o 1 B IR B, W
AT :
(A) THaEA @) B
(B) argaEd (B) whrEn
(C) wETE=H (C) =
(D) SeRrEerer » (D) TEa
45. wri R 3 ey % 7 49, TR = el vt 3 o
() = (A) e T TR
(B) =W (B) -sft-spft fopam < wohe @
(C) = C) WiFmmwwms 000
(D) T (D) eifsres foran s \eraT R
46. WU % YR W 9 % forat TR 87 50. ‘a9 R 7 o, IH W e o 37y §
(A) =9 (A) & fewmar FE
(B) i ‘ (B) A i
() (C) rga T g
(D) & (D) T ¥ # e

SPACE FOR ROUGH WORK / &M & foiq srg
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S1.

52.

53.

54.

SECOND PART / T 91
Section—II / fawm—II

0 dB SPL intensity does not mean

that there is no sound. It only
means
(A) Measured pressure > Standard

pressure

(B) Standard pressure > Measured

pressure

(C) Measured pressure = Standard

pressure

(D) None of the above

Waves that do not repeat itself and

are not sinusoidal are

(A) periodic

(B) pure tone

(C) complex tone

(D) None of the above

Difference limen for frequency

increases with

_(A) increasing frequency

(B) constant frequency

(C) decreasing frequency

(D) None of the above

The frequency interval between one

tone and a tone of twice the
frequency is called as

(A)
(B)
(©)
(D)

period
pitch
octave

spectrum

51.

52.

§3.

54.

0 dB SPL gl 1 Hacid &1 1 1 B0
&t B | S9! Haes

(A) WTT T IS > W ST
(B) WM TEE > HIYT 7T €o1E

(C) T TR &9 = WM g

(D) 39w & ¥ B T

@, St @ge W arud A g ek
e 9 €, ¥

(A) staRem

(B) Y&

() fufdm am

(D) 39 & | S T

gfy ofe o w2
(A) wedt i % qr
(B) fer gt & @iy
(C) =u Tt aTmgfa % Wi
(D) SuF® & A B

T 29 3R 36 g R F A9 F A=
¥ g AT H Fel Al B

(A) srafy
(B) @WH
(C) T=F

(D) ¥w

SPACE FOR ROUGH WORK / % %™ % o s
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55.

56.

57.

58.

The reference pressure value of
dB SPL is '

(A) 0-0002 dyne/cm?
(B) 20 uPa

(C) 0-00002 Pa

(D) All of the above

When the distance from the sound
source is doubled, the sound
pressure decreases by

(A) 3 dB

(B) 4 dB

(C) 5dB

(D) 6 dB

Speed of the sound in air at 20 °C
temperature is

(A) 344 m/sec

(B) 320 m/sec

“{C) 360 m/sec”

(D) None of the above

The process by which one may break
down the complex sound into its
component parts is called

(A) resonance theory
(B) travelling-wave theory
(C) telephone theory

(D) Fourier analysis

55. dB SPL %I {4 3R AeY ¢

56.

57.

58.

(A) 0-0002 dyne/cm?
(B) 20 uPa
(C) 0-00002 Pa

(D) 3w @t

v i da @ g B g fen S R, @
i gara § fopat it ot 37

(A) 3 dB
(B) 4 dB
(C) 5 dB

(D) 6 dB

20 °C AUHH W ga1 # s i 7fq el
(A) 344 m/sec

(B) 320 m/sec

(C). 360 m/sec

(D) W | & wf T

fra yien ¥ R A =R B o=
e AT AveT A1 € S g ST R

A) WHE
(B) afem-am =ardy
(C) Afem =
(D) HIfeR T
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59.

60.

61.

Artificial ear is used for which

calibration?

(A) Headphone calibration

(B) Bone-conduction calibration
(C) Speaker calibration

(D) Insert earphone calibration

What is instrumental calibration of
an audiometer?

(A) Electroacoustic
check output
audiometer

procedure to
accuracy of

(B) Instrumental procedure to
measure output of headphone
(C) Procedure to check hearing aid

(D) None of the above

In childhood disorders ‘enuresis’

and ‘encopresis’ mean as
(A) sleepwalking and stammering

(B) bedwetting and lack of bowel
control

(C) stammering and delay motor
milestone

(D) DSL with MR

59.

60.

FEH FH H Iw Forwe HiesieE A B

27

(A) TEHH HicTsTH

(B) S-hedH HfersyH
(C) T Hfasym

(D) F FRGH HictowH

AT 1 IR IAIHT R 27

(A) AfeArfix & 3M=ege 1 wdwa H
it 3 % T s ulwn

(B) TSH T AMZYE Siraw Y e wisean
(C) =av I ! Sira < Fishan
(D) I 7 @ 8 T

61. acaeRd % fowll # TPRW sk

‘TR’ I Haws = 27
(A) g T S@ 3R geherl

(B) forer e &1 iR T8eIe i §
B2l

(C) THaT 3R WeX-uRaeH § of

(D) o THo TeAo & WY THo 3TNo

8201 /ND-STR/RCE-M/10-C
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62. Attention-deficit

63.

64.

hyperactivity
disorder is known as

(A) hypokinetic disorder and ptosis

disorder

(B) hyperactivity disorder (with
senility)

(C) hyperkinetic disorder and

hyperactivity disorder

(D) hyperstasis disorder

A naturalistic language sample can
be obtained by

(A) reciting a poem
(B) reading a story
(C) interaction while playing

(D) interview

Early manifestation of severe
impairment in social interaction and
communication can be found in
{(A) infantile autism

(B) cerebral palsy

(C) infantile amnesia

(D) Retts

62.

63.

64.

area-2fhfe TrTfERlyd fer fFa &
T ST ST 27

(A) TR R Td Feiurd faeR
(B) wEwfaRfad foer (Fom & @)

(C) TEREEARS fr W aETERad
R
(D) TERETE faer

TITeHfeR T ohT e w ST R ST weh @
(A) e TgH

(B) el 9g%

(C) Eed T STaa Fh

(D) TNEATHR Fh

uﬁﬁmm%wﬁmﬁaﬁaﬁ%ﬁa_ |

iR TR & v Tl forad o8 ST weRdt
7

(A) THEE AR
(B) it Yot

(C) Thergel TR
(D) ¥
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65. When an individual with multiple

66.

67.

extra-
isolated

cognitive disabilities has
ordinary proficiency in
skills, then it is known as
(A) mental retardation

(B) specific language impairment

(C) Asperger’s syndrome

(D) autism

Which of the following brain areas
exhibits abnormality function in
ADHD?

(A) Meninges

(B) Corpus callosum

(C) Cerebellum

(D) Limbic system

~Which — -disorder- shows -~ dis-
coordinated gait and  trunk
movements, deceleration of head

growth between 5th month to
48th month?

(A) Autism
(B) Retts
(C) Childhood disintegrative disorder

(D) Asperger’s syndrome

65. W 9§ TN Tl AW

66.

67.

s #, TP HvEl H IMIURO Joran
A, d 3 g I}

(A) TR Hea
(B) faftre wmw =fy
(C) TSk flrgm
(D) Affesw

i nferss-2a § § -9 To o o
Fo (ADHD) & M= & Yeftfa e
77

(A) wf=m

(B) WErEISRT

(C) Gfee™

(D) fafers yomeht

HH-T1 AR 53 7R ¥ 483 7€ F W9
i< e adn 9 gaen IR R gfg
1 31ar< feamar 37

(A) oAffesn

(B) ¥

(C) et feeasrl fasr

(D) TERR foR
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68. The representation of ADD 68. o THo Wo (DSM)-5 & AR Yo o

according to DSM-5 is o (ADD) gt

(A) hyperactivity (A) TR

(B) disruptive and impulsive (B) Tormeaaill oK stragel

(C) distractive and sluggish (€) Frefea ok g

(D) more common in boys and men D) m i gs'ﬁ i R oW

69. What differs SLI from LD?
at citiers SLLrom 69. THo Telo Ao (SLI) T Te o (LD)

(A) No significant difference T R A R
between verbal 1Q to
performance 1Q (A) Mg 1Q ok weE 1Q ¥ WK
Tyl iR T 8
(B) Significant difference between
verbal IQ to performance IQ (B) WRe® 1Q 3 Wed 1Q & wewyl
W B
(C) No issues in word-based
mathematical calculation (C) Wg-3muTia  REE U B
a1 &
(D) None of the above
| (D) 3t & & A TH

70. Which of the following causes of
Acquired Childhood Aphasia is of
low prevalence?

70. THEEE wEeegE  AHWAT  (ACA) H
-] HRV FHH TER ATl 87

(A) Trauma

(A) 3T
(B) Ef{l'g) Hemispheric Damage ) e e & & (RHD)
(C) Infections (C) Hshuul
(D) None of the above (D) EQ'ﬁT'Fﬁ'@ HE &

SPACE FOR ROUGH WORK / % %® % fog se
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71. Which areas of function may be

more  significantly affected in
traumatic brain injury (TBI)?

(A) Memory and organization
(B) Comprehension and mood
(C) Both (A) and (B)

(D) None of the above

72. What is multiple disability?

(A) Individual with concomitant
impairment of minimum two
disabilities

(B) Always a deaf, blind individual

(C) More than five disabilities in an
individual

_ (D). None of the above

73. Traumatic brain injury is classified

by

(A) functional status at 12 month
(B) progress more than 6 months
(C) severity of injury

(D) recovery

71. SAfvETas uferss 6 e (TBI) § $RE F

72.

73.

P-4 &7 i el w1 | wnfya @
qwd §7

() wfy 3R T
(B) wwer 31R TR
(C) (A) 3 (B) 2
(D) 35 § A B e

EREERIUGICR 5

(A) a1 fsratiTarett % wTa g e
i

(B) BHIN SR, I =afe
(C) ufe q ST frearmanstt sren i

(D) 3w & & IS T

siftrmas Aferss & 9 ® Ffiea e
T 3

(A) 12 TEH A wEices Rk g
(B) 6 TR ¥ 31ferk Wil g
(C) = sl Mfiar g

(D) Ee-o

8201/ND-STR/RCE-M/10-C
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74. The word ‘audiology’ is derived from | 74. ‘sifediaih’ wes frm s & form 27
which language?
(A) 3
(A) French
(B) sniH
(B) German
: (C) wfA
(C) Latin
(D) Italian (D) Rfewr
75. Who is considered as ‘the father of 75. WA # 54 ?i'EI ' 3R gﬁ & S % *q
speech and hearing’ in India? CRICIEISIRE
(A) Dr. N. Rathna (A) o To WM
(B) Dr. S. Nikam (B) €fo wdo Fern
(C) Dr. Swaminathan (C) &0 WHFRN
(D) Dr. Salim Ali (D) o el areh
76. Which of the_foll.(ﬁz'ing’ parts of the 76. FH F BH T A FE-E AW ﬂ"ﬁ £
o sends clocuic impules o (b || fn 3 e e s 1 ot 3
auditory v i i . ?
process? Rl @
(A) Cochlea (A) HiferTan
(B) Hair cells (B) TR ded
(C) Tympanum (C) femlm
(D) Stapes (D) Wi
SPACE FOR ROUGH WORK / % &M & fq sme
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7.

78.

79.

80.

The thickness
membrane is

of the tympanic

(A) 07 mm
(B) 007 mm
(C) 0-007 mm

(D) 0-0007 mm

is the commonly seen
neurotransmitter in the inner ear.

(A) Acetylcholine
(B) Neuropeptide
(C) Glutamate

(D) None of the above

Tensor tympani muscle is
innervated by which nerve?

(A) 7th
(B) 10th
(C) 8th

(D) 5th

Which of the thin bony plates makes
roof of middle ear?

(A) Tegmen tympani
(B) Tensor palatini
(C) Tensor tympani

(D) Levator palatini

77. HH % W I AT A R

78.

79.

80.

(A) 07 mm
(B) 0:07 mm
(C) 0-:007 mm
(D) 0:0007 mm

(C) TeRmR
(D) 3ug & | I T

T ot wiatsh & FR-T & sTeIiea
(innervated) T &7

(A) 7at

(B) 10af

(C) &al

(D) 5at

7o ol H BA - TH qaeht aH @R
(bony plate) ST 7

(A) e U

(B) W Yaifeh

(C) &ar o

(D) TR it

8201/ND-STR/RCE-M/10-C
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81.

82.

83.

84.

The area of the tympanic membrane
that is effective in transmitting
vibration is

(A) 1/3

(B) 3/5

© 2/3

(D) 2/5

The best test to confirm the
functioning of the eighth nerve in a

client with severe to profound
hearing loss is

(A) ABLB

(B) promontory stimulation
(C) SISI

(D) tone decay

The Father of Audiology, Raymond
Carhart was a/an

(A) otologist

(B) audiologist

(C) psychologist

(D) speech language pathologist
Hair cells of the vertical SCC
(posterior and anterior) are oriented
in such a way that the

depolarization occurs when endo-
lymph moves

(A) towards ampulla
(B) towards saccule
(C) towards utricle

(D) away from ampulla

81.

82.

83.

84.

FA F TR F FhaT &9 AEW B R
o & gl g 27

(A) 1/3
(B) 3/5
€ 2/3
(D) 2/5
fuferr @ NHEE HEu AW I e A

aed 7 it FRl T A gEa i FAH P
g F-wn vl wEd ST 27

(A) To Tflo THo Sfto (ABLB)

(B) shieh fRgaem

(C) THo 3Mgo THo 3o (SISI)

(D) 2F &% (tone decay)
Ffeateh & S Wig HREE T

(A) MR &

(B) Affeaaivme o

(C) wTFRIE X

(D) = et Yefiaitore

St ¥ TP T (W W ) &
TR o0 3 0% ¥ @ T ¢ &

RieMESTR a9 BT 3, & EIers
T et B

(A) TG R AW
(B) ¥et hl AR
(C) Fehat A 3
D) TRENAR

8201/ND-STR/RCE-M/10-C
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850

86.

87.

88.

Utricle and saccule respond for

(A) linear acceleration

(B) angular acceleration

(C) linear and angular acceleration

(D) neither linear
acceleration

nor angular

Warm irrigation of normal right ear
in a caloric test results in

(A) nystagmus beating towards the
left ear

(B} nystagmus beating towards the
right ear

(C} nystagmus beating towards the
right or left ear

(D) no nystagmus beating
The highest prevalence among

non-syndromic genetic hearing loss
is associated with

(A) autosomal dominant
(B) autosomal recessive
(C) X-linked

(D) mitochondrial

An  individual with  acoustic
neuroma with high-frequency
hearing loss is likely to have

(A) pulsatile tinnitus

(B) low-pitched tinnitus

(C) high-pitched tinnitus
(D) buzzing-type of tinnitus

85. Idoa ot Waw % fou wfefen

86.

87.

L 2

(A) X o

(B) Uit @R

(C) e IR Fofig @

(D) =1 Raek wwor A1 | vl @

Felfer 3= #, g el % # e g
e @

(A) AfrEem st = F R T

(B) rfrcrem 3¢ = Y 3R B

(C) efarrer Trd A =g %M A SR B
(D) e =&t gm
Ta-fargiftes SARs saw A =1 waiftes
TR e o ST S ®

(A) STama e

(B) ame faRke

©) X-fe

(D) WiEEHTgae

88. T Rk S Vgfes =1 & @9 3=-

Imgfr v T R, SOH TR ST @
(A) TRl Rftem

(B) =1 = Rfew

(C) ¥ @ fefred

(D) & A aE feied

8201 /ND-STR/RCE-M/10-C
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89. Fluctuating conductive hearing loss

90.

91.

92.

is a condition seen in
(A) Meniere’s disease
(B) otospongiosis

(C) serous otitis media

(D) chronic otitis media

If the sound is arriving from behind
the listener, monoaural cues to
sound localization will be provided
by

(A) pinna shadow effect
(B) body baffle effect
(C) head shadow effect
(D) All of the above

If the speed of sound is
3432 m/sec, and the adult head is
roughly 160 mm, then in which
frequency the head shadow effect
will be seen?

(A) 2145 Hz
(B) 2145 Hz
(C) 214'5 Hz
(D) 2145 Hz

Binaural auditory system is highly
sensitive to

(A) interaural time difference

(B) interaural intensity difference
(C) Both (A) and (B)

(D) None of the above

89.

90.

91.

92.

AFER Yarghiy Hau g1 TH 3rawen § S
@ St ®

A) ffed fedis

(B) IMraf=mnfaa §

(C) Rra sfersfew fifeem §

(D) i sirersfen Hifean #

RN AMF B R ARAM @R, @

Wit e & fau uw-wefla g
e fre Smin

(A) HuiaTelt SET INE
(B) TRR nftdies wsE @
(C) s Brn wE |

(D) 3w @it

e @ f 9@ 3432 m/sec 3, AR
TH Uk T WY S 160 mm ®,
@ 7 ¥ frw omgft # Y B W
fegm?

(A) 2-145 Hz

(B) 21:45 Hz

(C) 2145 Hz

(D) 2145 Hz

ol wem yoreht rftes HagRita @
(A) TR-soffa wwr Fe &

(B) ieR-wuita dfigmar e #

(C) (A) 3R (B) +f

(D) 30 # A I T

8201/ND-STR/RCE-M/10-C
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923.

94,

95.

96.

The missing 6 dB is known for

discrepancy between

(A) minimal audible pressure and
maximal audible frequency

(B) minimal audible pressure and
minimal audible frequency

(C) maximal audible pressure and
‘minimal audible field

(D) minimal audible pressure and
minimal audible field

The equation AI/I is the part of
(A) Weber law

(B) Weber fraction

(C) Squelch effect

(D) inverse square law

Pitch scale is an example of
(A) interval scale
(B) nominal scale
(C) ordinal scale

(D) None of the above

Time period for a 250 Hz tone is
(A) 02 msec

(B} 4 msec

(C) 250 msec

(D) 4 sec

93.

94.

95.

96.

TS 6 dB F 9 founfa & fou
AT ST R

(A) <HaH # A IR SfrRan e
agfa

(B) =ad syt WA R Eaw w
Wﬂﬁ 0
(C) 3ftre =9 a1 3R =" o= &

(D) <ATH ¥T TaE IR ~[IaH 47 &

iR AT/ T Teen #
(A) IR |

(B) IR HFa H

(C) wRTd INE &l
(D) =gehR T TEm *

RERSSRCH LR
(A) ST YA A
(B) —LIdH TR I

(C) ST H
(D) 39w § & ¢ e

250 Hz 24 & foe wwg safy @
(A) 02 msec

(B) 4 msec

(C) 250 msec

(D) 4 sec

8201/ND-STR/RCE-M/10-C
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97. All sounds that are equal in phon | 97. ®ft 3&aH St B R Yawar § K g,

and loudness, their physical Ieh1 Hifersr aftamor B
magnitude is

A) T&H 4
(A) same (A) o
(B) different (B) 3
(C) No relation (C) 1 Guy e
(D) 39w & § #iE T

(D) None of the above

98. At low loudness level, the phon 98. :;jn % TR W (phon) BF 74

curve is similar to

(A) MAP (A) o To flo F
(B) MAF : (B) o To Tho H
(C) MAP and MAF (C) Wo To o 3R TWo To To F
(D) None of the above (D) 3w | | I T
99. Loudness level of 1 sone is equal to 99. TH €I FI Yaelal TR T
(A) 20 phon (A) 20 phon %
(B) 40 phon (B) 40 phon %
(C) .60 phon - (C) 60 phon-% -
(D) 1 phon (D) 1 phon &

100, Sensory bt of smnd B | 100, 152 1 446 e 3 fs, e o
’ safty ) S S R, R

and duration is

(A) sound quality () SR R e
(B) timbre (B) femR

(C) Both (A) and (B) (©) (A) 3R (B) IF
(D) None of the above (D) 394 § A HIE TE

SPACE FOR ROUGH WORK / W %M & fg g

8201/ND-STR/RCE-M/10-C ‘ 27 [ P.T.O.



51.

52.

83.

Section—III / fawm—III

Which angina is most dangerous?
(A) Typical angina

(B) Crescendo angina

(C) Prinzmetal angina

(D) Variant angina

In which condition, P-R interval is
increased in  electrocardiogram
(ECG)?

(A) LGL sydrome

(B) Rheumatic fever

(C) Atrial septal defect

(D) Aortic valve disease

Infarct is least common in
(A) left ventricle

(B) right ventricle

(C) left atrium

(D) right atrium

51. HH-T1 USR] T9 GatTsh qar 87
(A) Tfree gemem
(B) fra= e
(C) Toremies gSte

(D) i TstTE

52, soarequm ($odtosfio) # o Mo

A el &g ST 37

(A) wo@ﬁoWOﬁ@ﬁ
(B) ®afsH Hia

(C) emiga et fewae
(D) wNifés area f&sfiw

W FH THEE ol 8
() =g sifgeher A
(B) & aifgshe o
(C) = amfem &
(D) = aigem #

53.

8201/ND-STR/RCE-M/10-C
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54. An important protein from bacterial

55.

56.

57.

cell surface implicated in
pathogenesis of rheumatic heart
disease is

(A) G protein

(B) M protein

(C) L protein

(D) X protein

‘Bread and butter’ appearance of
pericardium is present in

(A) hemorrhagic pericarditis

(B) hydropericardium

(C) serofibrinous pericarditis

(D) constrictive pericarditis

Chronic ischemic heart disease

occurs most often due to
(A) coronary atherosclerosis
(B) repetitive coronary vasospasm

(C) embolization of
branches

coronary

(D) stenosis of coronary ostia

Calcium channel blocker used in the
treatment of hypertension is

(A) Prazosin
(B) Furosemide
(C) Amlodipine
(D) Captopril

54.

55.

56.

57.

AR it TaE | I WA A BH-|
ygE TN wafts & R § wm w
27

(A) Sfto TEH

(B) Wo WA

(C) oo WM

(D) T M

‘Iz 3t 72’ fl W TewTdam fred
ST 87

A) i e

(B) BrEgrHchIISaH

(C) ERfefrg WaiéRa

(D) HEffFa HWefehka

A s @ Refie wpaa: fea wra
B 87

(A) PR TR

(B) Wfea AR FrEreany

(C) TSR AT HII Fe

~ (D) A AT RO AR -

I=1 THOTY % IYAR | oaed Hicwaw S d
e TR ©

(A) WSNRMA

(B) TUEAIES

(C) w=fefum

(D) ¥

8201/ND-STR/RCE-M/10-C
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58. Which of the

59.

60.

following is an
angiotensin receptor antagonist?

(A) Losartan

(B) Captopril

(C) Verapamil

(D) Enalapril

Which of the following is not a
cardioselective beta blocker?

(A) Atenolol

(B) Propranolol

(C) Acebutolol

(D) Metoprolol

Adverse effect of loop diuretic is
(A) hypokalemia

(B) hypouricemia

(C) hypermagnesemia

(D) hypernatremia

58. f=fifad & ¥ Fm-w w wHERRA

59.

e derifiee /7
(A) SR

(B) ¥

(C) auurfie

(D) TATemHter
frfefaa ﬁ. ¥ BH-T widAfaE fe
AR TE 27

(A) Tt

(B) NuMATA
(C) wHegereiet
(D) AT

60. mwﬁmmuﬁ%;‘mﬁ%

(A) ETERATErT
(B) TrdrRfEn
(C) TrguiafiE
(D) wEwAgRE

8201 /ND-STR/RCE-M/10-C
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61.

62.

63.

64.

Adenosine is the drug of choice for
(A) atrio-ventricular (AV) block
(B) sinus bradycardia

(C) paroxysmal supraventricular
tachycardia (PSVT)

(D) All of the above

Quinidine on ECG produces
(A) ST depression

(B) flattening of the T waves
(C) prolonged Q-T interval

(D) All of the above

Which of the following drugs can
cause QT prolongation?

(A) Procainamide
(B) Lignocaine
(C) Esmolol

(D) Adenosine

Which of the following drugs can
prolong P-R interval?

(A) Adrenaline
(B) Propranolol
(C) Thiazide

(D) Dopamine

61.

62.

63.

64.

TS uEE i g 8
(A) fn-dfeger st & forg
(B) wrgaH Sfeamifan & fog

(C) utifeamer grafiger fmisar (fo
wHo o o) & fow

(D) Wk asft

Ffteret ECG W 3ca9 Gl 8

(A) o Fo fEUTH

(B) Wi A6 3 Fo I50

(C) TS Fo-Lo FTA

(D) IR |t

fraffea & @ #F-m g ®qo Ao
Seffentor 1 HROT 7

(A) SRS

(B) femerg

(C) Twitet

(D) TR -

fraffaa & @ F-w g1 Ho-3o
AT T Tehal 27

(A) ufgrars

(B) MR

(C) UTSTES

(D) SHmETEA

SPACE FOR ROUGH WORK / T &/ % o smg
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65. Sinus tachycardia

66.

67.

is caused by
which of the following drugs?

(A) Atropine
(B) Propranolol
(C) Verapamil

(D) Adenosine

Digitalis toxicity is characterized by
(A) shortening of the Q-T interval

(B) ST segment
inverted T

sagging with

(C) ventricular bigeminy

(D) All of the above

The cardiac cycles are

(A) peristalsis

(B) superior and inferior vena cava
(C) systole and diastole

(D) murmurs

65. f=fafaa 0 @ 59 g1 &% wnor wE™

66.

67.

Aferemidan grar 27
(A) g

(B) shsrrﬂafa
(C) aqumiet
(D) fraTs

Teforefora faurrar = erfirearfora foman sman
?

(A) Fo-3o IR I Blel Fh
(B) 31as o & wHo dto qwiz &fimT g
(C) afemer fomfert gr

(D) 3T Teft

TS o B

(A) IR

(B) IR TE AN 341 e
(C) €I T SRR

(D) "

8201 /ND-STR/RCE-M/10-C
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68. Another name for bicuspid valve

69.

70'

between left atrium and left ventricle
is

(A) mitral

(B) pulmonary

(C) aortic

(D) jugular

At the time of applying leads, V; lead
is applied

(A) directly lateral to V, at the
anterior axillary line

(B) lateral to V5 at mid-axillary line

(C) fifth intercostal space in mid-
clavicular line

(D) fourth intercostal space at right
stomal border

The word ‘defibrillation’ means
(A) a shock to the heart
(B) CPR

(C) heart massage

(D) an injection into the heart

68.

69.

70.

TEHfEE ared & fore arEff erferg wa e
e % s qE AW R

(a) forge
(B) W
(C) e
(D) IR

el @ @ F AR, V) Tl T S
g

(A) 1 whefig Yo | €Y ure v, & fog
(B) Wea-wefta Y W awd Vg & f

(C) AA-FAfgRER @ W diee
TR Y % g

(D) aRA Rwa dm | et e
o * fog

e ‘Tefeforctem’ &1 ordf 2

() & % fog uwm

(B) o dio 3o

(C) 7= & "o

(D) &= & gE &

8201/ND-STR/RCE-M/10-C
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71. The large squares on the ECG paper 71. ECG YR & 9 iR SR 8al &
are equal to

(A) 0-20 9FvE
(A) 020 second (B) 030
(B) 0-30 second ©) 004
(C) 004 second

(D) 0-05 BHTS

(D) 0-05 second

_ 72. IR # W AW FH-W @ el
72. Which wave represents the i 27
contraction of the atria?

(A) R wave (A), ;e ?R"T
(B) T wave (B) o wc
(C) S wave {C), EoeraT
(D) P wave (D) '.Iﬁo T
73. The electrode site should be 73. TS W

(A) e rEn defim e =niie
(B) # R wren A T =T

(A) damp or oily

(B) Only skin oil is present

(C) moist (C) 3= -
& clean, ;ooth a1;1 dry 7 (D) §I%, T T &b
74. The positive pole of lead III is at 74. -1 1 Wi Wil gl &
(A) left leg (A) sE R ®
(B) left arm (B) st SIS W
(C) right leg (C) TR
(D) right arm (D) <t SIS W
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75. The quick way to calculate regular

76.

77.

rhythm heart rates is to divide the
number of small squares between
two consecutive R waves by

(A) 900

(B) 300

(C) 1500

(D) 30

Which represents the time from the
beginning of atrial depolarization to

the Dbeginning of ventricular
depolarization?

(A) P-R interval
(B) ST segment
(C) PR segment

(D) QRS complex

Pericardium is situated in
(A) superior mediastinum
(B) anterior mediastinum
(C) middle mediastinum

(D) posterior mediastinum

75. Taf gea ® H @@ f O F=E

76.

Y &S a0F § &) WaR R 90T & 9
& B 9l 6 gear H faala w5

(A) 900 &

(B) 300 &I

(C) 1500 3

(D) 30 g

forereft forypefiertor 1 yqeeTa @ o Iidae
feregefiertor Y J=Td o THT I ST B
(A) Hlo-3Ro IF=A

(B) THo Fo Qe

(C) o IR0 AW

(D) ®o 3Ro THo FHITd

77. AR A7 URenTiEan R @ N

A) giufer fiferedim 4
(B) TR fufsaredm 3
() fafea fafearedim &

(D) ifefer ffeaeiam &

8201/ND-STR/RCE-M/10-C
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78. Pericardium is supplied by

79.

80.

(A) phrenic nerves
(B) intercostal nerves
(C) cardiac plexus

(D) All of the above

Right atrium receives blood from
(A} superior vena cava

(B) inferior vena cava

(C) coronary sinus

(D) All of the above

Left heart deals with

(A) oxygenated blood

(B} deoxygenated blood

(C) both oxygenated and
deoxygenated blood

(D) All of the above

78. T A1 Ufemiean fhw Td @ wws

it 87

(A) B 7d

(B) FHed T4
(C) FIisas wieaq

(D) 3us Tt

79. =T = § BH-d R gedt 87

(A) 3T TETRW
(B) R WEIRW
(C) w0 fBw
(D) SR @t

80. TIT H TN AW G &

(A) NS Ik T @
(B) 3tiaieH foad wha

(C) s I T s fod
qH &

(D) ST asft

8201 /ND-STR/RCE-M/10-C
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81. Apex of heart is formed by 81. T 1 JohieT W AT g F9qT §
(A) left and right ventricle (A) ard iR T few™ g

(B) left ventricle and left atrium (B) =Td ferg st and stfere

(C) left ventricle ©) Sy -

(D) right ventricle (D) <t e T

82. Posterior surface or base of heart is
82. Td &l UTH (NRRE) Wit s7ar B

formed by

(A) left atrium (A) s 3tfeT= g/

(B) left atrium and right atrium (B) sl Ifei TH T 31 g
(C) left atrium and left ventricle (C) =i sifei< wa st o™ g
(D) All of the above (D) Iws |ft

83. The types of myocytes in | g3 yriemféan & fee aw i TEEEE B 87

myocardium are

(A) nodal myocytes (A) Aree ARIETEE
(B) working myocytes (B) =fFT nrnETsE
(C) transitional myocytes (C) St wrETEe
(D) All of the above (D) I W

SPACE FOR ROUGH WORK / % &M & fau S
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84. Right coronary artery originates

85.

860

from

(A) anterior aortic sinus

(B) left anterior aortic sinus
(C) left posterior aortic sinus

(D) All of the above

All tributaries of coronary sinus are
guarded with valves, except

(A) anterior cardiac vein
(B) great cardiac vein
(C) oblique vein of left atrium

(D) small cardiac vein

Ventricles of heart are supplied by
(A) sympathetic nerves
(B) parasympathetic nerves

(C) both sympathetic and para-
sympathetic nerves

(D) None of the above

84. Tl HR wt frererdt 8

85.

86.

(A) TARER s g |

(B) ¥ TR Taiifds weE |

(C) dwe Nifefer wanfés wrw |

(D) W asft

PG wew H owft R, st
gardt &, & area B 7, Rema

(A) AR s o &

(B) I wifas 3 F

(C) méqaﬁtﬁévz@m(ax%m)
£

(D) i HISIH o

gy % From frad wwg et 27

A) s &

(B) YuRmafes 7

(€) Rrdiee v doRmadfes & 3t
(D) IWE ¥ ¥ i AL

8201/ND-STR/RCE-M/10-C
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87.

88.

89.

(D) behind the T wave

Conduction delay in AV node is
beneficial to or important for

(A) ventricular contraction phase of
ventricles

(B) ventricular relaxation phase of

ventricles
(C) Both (A) and (B) are correct

(D) None of the above

Cardiac muscle cannot be tetanized
because it has

(A) long refractory period
(B) short refractory period
(C) long contraction period

(D) very short contraction period

In normal ECG (Electrocardiogram),
atrial repolarization wave can be
explained as

(A) find after QRS complex
(B) find before QRS complex
(C) behind the QRS waves

Spontaneous generation of pace-
maker potential is due to mainly

(A) influx of Ca™*ions
(B) influx of K* ions
(C) efflux of Nations

(D) None of the above

87.

88.

89.

90.

To sflo Az ¥ e ¥ ®RREE B W

A B

A) Tt % frem @ B 3 oo

(B) frert % e Rifdem % & fog

(C) (A) T (B) I e &

(D) 3RIw & & g T

| Wit eFEs A R S owwan

Hepdl, Ik SHH

(A) @ giar smafy 9 &

(B) *ig Fiera st € &

(C) ¥ wFeH vty B &

(D) oga & NS Fg= A Bt &

YR ECG # e [gaw qor it

ST Y ST whdl ]

(A) FEE MR o Ao THo FIT
ERC R

(B) BTEE SIBR Fo 3o Tho HUTT &
WA

(C) formtEs Fo 3o THo A9 & Y H

(D) fREe fo q@a M wa d

YR & & WA SREF 6t a9
T ¥ W 2

(A) Ca** STl = FAEe

(B) K* 31t w1 ey

(C) Na* STRMl =1 Siqafy

(D) 3T § | =L A&

8201/ND-STR/RCE-M/10-C
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91.

92.

93.

94,

The duration of P-R interval in
healthy person should not exceed
beyond

(A) 0-2 second
(B) 025 second
(C) 0-27 second
(D) All of the above

Unipolar aVR limb lead wusually
consists of PQRST waves in the
following pattern.

(A) +ve waves
(B) —ve waves
(C) Both (A) and (B) are true
(D) Both (A) and (B) are false

Physiological syncytium functions of
cardiac muscles are due to

(A) zero resistance during
conductance between cells

(B) gap junctions between cells

(C) Both (A) and (B} are not true

(D) Both (A) and (B) are true

The term ‘Electrocardiograph’
represents which one of the
following?

(A) Procedure of recording the ECG
(B) Paper used in ECG recording
(C) Machine used in ECG recording

(D) All are correct

91.

92.

93.

94.

ey =ik T dlo 3MRo =l i @fe

__ U9 A ae! =it

(A) 0-2 T

(B) 0-25 WFHvS

(C) 0-27 HHve

(D) IR axft

TRy aVR fore ofie § amraer do

o INo THo Ho @ fhw wew & TA

87 '

(A) uitsfea aat

(B) =fea &t

(C) A (A) T (B) WE &

(D) 3 (A) @ (B) 7ot &

(A) HIRERT § Aeed & WA I
JieRIY & HROT

(B) SHIRTHIST | Fralrel TASH

(C) I (A) wd (B) W& TE

(D). 3 (A) T (B) WE &

T ‘o fefafea # @ e

T I vefdia war 27

(A) ECG fenitsn 6t ufsen

(B) ECG ferrién & Iw =t st

(C) ECG fwrifén & wefi 1 s&wma

(D) 3wk weft Wt &

8201/ND-STR/RCE-M/10-C
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95. U wave appeared in ECG tracings

indicates
(A) slow depolarization of ventricles
(B} slow repolarization of atrium

(C) slow repolarization of annular
ring

(D) slow repolarization of ventricle

96. Low concentration of ion K* in ECF

causes changes in ECG, except
(A) ST segment sagging

(B) T wave depression

(C) U wave elevation

(D) P-R interval shortened

97. Aschoff bodies are present in

(A) infective endocarditis
(B) rheumatic endocarditis
(C) lupus endocarditis

(D) marantic endocarditis

95. ECG fm & U’ a1 w1 @ 3fie e

96.

97.

8

(A) Fromt § ot fagao

(B) @rfere § el gagem

(C) TeETHR g | et gagaor

(D) fiew &t ofieft gagam
ECG ¥ uftgdd, ECF # o K+ & offmr
HIZY & HROT B 8, Rrama

(A) wdo Ho T &fimT F

(B) Jto 9= feuzm %

(C) U’ 39 Tfoase &

(D) o 3TRo =T H BT TH &

e S fohe W H IR S 27
(A) THEE TS

(B) THfew wemmiEfen

(C) U9 TeHferd

(D) i Terhfefen

3201 /ND-STR/RCE-M/10-C
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98. Most commonly involved artery in | 98. TRf¥& T@d T WEa: HH-dl o9

(D) thromboembolism

ischemic heart disease is RO BT 27
(A) right coronary artery (A) =t BRI an
(B) left anterior descending artery (B) st feR R g
(C) left circumflex artery (©) arfi TR aat
(D) right circumflex artery (D) =t TFETE g
99. "I‘he c.omplications of myocardial 99. TEIETSAT TEENH F UAE GV T8 2

infarction are all, except
(A) arrhythmia (&) e
(B) cardiogenic shock B) e M
(C) polyarthritis () deflsnEfe

(D) A=y

100: -MacCallum’s patch is present in — 100. & e ﬁﬁ S @

(A) atrial septal defect (A) sufeue dwa e §

(B) congenital heart disease (B) Fioifee g€ fesftst &
(C) rheumatic heart disease (C) wifts & fesfiw o
(D) hypertension (D) 3= &AM |

SPACE FOR ROUGH WORK / T &M & forg s
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51.

52.

53.

Section—IV / fRwm—IvV

Which type of hallucination is seen
in a patient with schizophrenia?

(A) Visual -

(B) Olfactory

(C) Tactile

(D) Auditory

Children with specific language

impairment (SLI) have better
skills than children with autism.

(A) semantic
(B) auditory
(C) pragmatic

(D) syntactic

In which year the Persons with
Disability (PWD) Act came into
effect?

(A) 1992
(B) 1993
(C) 1994

(D) 1995

51.

52.

53.

frafea aerar @ difsa Woft § <@ s
arer wiayw fora TR 1 Bar 27

(A) gfe waHh
(B) wor gaeh
(C) wusi waeht
(D) == waHh
sifesw N aden fafie sy @l (SL) &

w1 § F=fifad § @ SF-w Aww S
=BT BT 7

(A) fanf==s
(B) oifectt
(C) iR
(D) fefaes
e o sm P sfufem (PWD) Tt
BomT?

(A) 1992
(B) 1993
(C) 1994

(D) 1995

8201/ND-STR/RCE-M/10-C
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56. Training

54. According to ASHA recommendations,

a child who is admitted in neonatal
ICU should receive hearing screening
at what age?

(A) 3 months
(B) 6 months
(C) 1 year

(D) Before discharging from the
hospital

55. The accuracy of hearing screening

test in correctly identifying persons
having actual hearing loss is

(A) reliability
(B) precision
(C) sensitivity
(D) specificity
children regarding the

function use of language is referred
to as

(A) semantics
(B) pragmatics
(C) syntax

(D) All of the above

54. To THo THo To i TGN & JIIER TH

55.

56.

T, PR Taema BR]-dedt 5o wio o
T wdff foren man B, ) 50 38 & s@or oifw
& it S =iRe?

(A) 3 WEN

(B) 6 WM

(C) 194

(D) ergeTet & gL § wE

TR HEv 99 I feA H g @ 9

TeaW & fu & wEe whtm ghen
LG i

(A) Toveatear

(B) Y&t

(C) wogRiteran

(D) feryea

T % FHEEH IR F faw = H
fRTET 3 Y FT A R

(A) faafRem

(B) i

(©) fereaw

(D) 3 wf

8201 /ND-STR/RCE-M/10-C
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5%7. Rochester method makes use of a

S8.

59.

60.

combination of

(A) speech reading alone

(B) speech reading and sign
language

(C) speech reading and finger
spelling

(D) sign language alone

If one or more of the subjects are
taught outside the classroom by a
special educator, then the child is
said to be

(A) partially mainstreamed
(B) fully mainstreamed
(C) socially mainstreamed

(D) in a self-contained classroom

Asking a person to identify the word
that have the sound, m, through
speech reading is referred to as

(A) synthetic approach

(B) analytic approach

(C) analytic or synthetic approach

(D) analytic and
approaches

synthetic

The Sarva Shiksha Abhiyan deals
with providing education for children
in the age range of

(A) 3 to 18 years
(B) 4 to 18 years
(C) 4 to 20 years
(D) 6 to 14 years

57. e Tty 8 s 61 I9ET B

H

(A) e o Gfen

(B) v ffen w wrg e
() wi= {fen v for wiem
(D) % AIE Thast

58. IR T A T ¥ WEl vy oy e

T HET % aTeL YT STl B, O o=
el SR

(A) iR &9 & geIaw & }
(B) T ®9 ¥ gEauw § B

(C) IR ®9 § gEIvRT & }
(D) wE-fifa e & 2

59. el =afee 1, v ofe Ofen & mem @

I TR h T v & for R frad
wf, 1, ®, Hefia T sran ®

A) fadfes gfeam

(B) Tfiilee gfEeir

- (C) e faaRs g

(D) T iR faafew g

0. ud Ren aftmm ___ oy €W % F=

F forg e vem A @ detva 2
(A) 39 18 3
(B) 4% 18 W
(C) 4% 2079
(D) 6 ¥ 14 a4

8201/ND-STR/RCE-M/10-C
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61.

62.

63.

64.

Homophenes are those words that
(A) look alike

(B) sound alike

(C) sound or look alike

(D) None of the above

Individuals with a sloping high
frequency hearing loss will have

more problem in hearing which
speech sounds?

&) Inf, [s], [k|
B) Ifl, Ipl, Ib]
(€ Ifl, Isl, IS]
(D) Ipl, |b], [m]
In early childhood, children with

good hearing abilities learn language
mainly through

(A) random access

(B) incidental learning
(C) direct instruction
(D) visual modality
WHO was established in which
year?

(A) 1948

(B) 1968

(C) 1946

(D) 1966

61.

62.

63.

64.

BANEH 3 Teg §,

(A) T fewa &

(B) T I I 307 A B

(C) = 39 R § I T S @ §
(D) 30 § A A T

T 3= gy e i e safeRt @
- et B @fE B ge d S
quend g

@ 131, 18], 1%

B I®l, 9], 9]

© I=®l, |9], 9]

D) 191, |91, |7

T H, S yau guarst 9 o= g
w9 7w drad §

(A) =g g9 % T

(B) wwftes fem & 3w

(C) wae Fdw & gr

(D) T |IEF % TA

gscgo THo Mo form ¥ wnfue femm
17

(A) 1948

(B) 1968

(C) 1946

(D) 1966
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65. Which of the following is not an

66.

67.

objective of the national institutes?
(A) Manpower development

(B) Disability certification

(C) Creating awareness

(D) Research

NGOs can be registered in which of
the following?

(A) Disability affairs

(B) PWD department

(C) Both (A) and (B)

(D) National trust

Which of the following plays an
important role in rehabilitation?

(A) Community

(B) Parents

(C) Friends

(D) All of the above

65.

66.

frafafes & @ F9-w1 W d@m w5
e € R7

(A) SFuITR frema

(B) TerepetnTal ywmoM

(C) SITESHaT 92T AT

(D) JTgHa™

Frafaftaa & @ wo Sho 3o frwd Ushigra
T s\ 87

(A) Ferepatimar T

B) o &0 o fawm

(©) 3t (A) M (B)

(D) T =

67. frefifaa § ¥ ¥ g § w Heww

syt Fromen 27
(A) wgI

(B) wman-Tuan
()

(D) 3T wh

8201 /ND-STR/RCE-M/10-C
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68. NGOs are 68. THo Sfio 3o &

(A) non-profitable organizations (A) TR-TTHERIF T
(B) voluntary organizations (B) W e

(C) non-governmental organizations (C) R-TTHH T
(D) All of the above (D) 3w asft

69. What is the role of NGOs with the | 69. To Sfo 3o il WhR % Wiy i

government? ¥ 77

(A) Partner (A) @reft

(B) Catalyst | (B) 3aH

(C) Both (A) and (B) (C) 3HI (A) 3R (B)
(D) None of the above (D) 39w & ¥+ T

70. What is the need of human resource 70. foFamT & &% # HEE GEE it @

in disability sector? STETHHAT 87

(A) More number of disabled people (A) 3FEm A H A e
(B) Less-trained personnel (B) =W uRiiera =t

(C) Availability of services (C) Qa3 i IuAsTAl

(D) All of the above (D) W’é?ﬁwﬁ

SPACE FOR ROUGH WORK / % &M & fot g
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71. Purpose of UN CRPD is 71. o To Hio 3AWo Wo Fo 1 I 2

(A) to ensure full and equal rights (A) f IR gam eAfteeR ghifeaa &

(B) to promote respect for their (B) 31w siafifea wfem & wfa wom =
inherent dignity EHCIRCI

(C) fundamental freedom (©) e T

D) All of the above

® (D) e @

72. AYJINIHH was established in which 72. To T:Trgfo o o 3o THo THo H

year? v o 8 o7
(A) 1973

(A) 1973
B) 1983
) (B) 1983
C) 1987
© (C) 1987
D) 1933
® (D) 1933

73. Other causes of disability comprise

73. YA F I FEOT § WA Bl B

of
(A) accidents (A) g

(B) ageing | (B) T W R awR A M I@ M
(C) lifestyle diseases (C) Sham-Neft Fi a5 ¥ TN T W
(D) All of the above (D) 39w a+ft

SPACE FOR ROUGH WORK / T &M & folg SFg

8201/ND-STR/RCE-M/10-C 49 [ P.T.O.



74. In how many levels does prevention

75.

76.

of disability occur?
(A) Three levels
(B) Two levels

(C) Four levels

(D) None of the above

Prevalence means
(A) number of new cases

(B) number of cases at a specified
time

(C) number of old cases

(D) number of cases added to new
cases

Which among the following indicates
activity limitation?

(A) Disease
(B) Impairment
(C) Handicap

(D) Disability

74, Taeraa S ehum foham @l § 9t 27

75.

76.

(A) dFH &R
(B) 3 &R
(C) IR &R

(D) 3 # 4 = &

T 1 A 3

(A) T AT 6T FE&

(B) Fifée w9 w A&t I w&n

(C) T HWE I qE&A

(D) ¢ HHEAT H SIS T HIWEAT ! HEAT
fefifas# & SF-w Rl @ w5
3 e 27

(A) T

(B) &fd (FUe)

(C) STUTa

(D) faeperrman

8201 /ND-STR/RCE-M/10-C
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77. Which

78.

79.

80.

among the  following
represents the cause of disability?

(A) Perinatal

(B) Heredity

(C) Infectious disease
(D) All of the above

Which among the following is most
discriminative term?

(A) Differently abled
(B) Challenged

(C) Handicapped
(D) All of the above

The acronym ICF means

(A) International Classification of
Functioning, Disability and
Health

(B) International Classification of

Functioning, Disability and
Handicap

(C) International Classification of
Functioning, Disease and
‘Handicap -

(D) None of the above

Classification of
Impairments, Disabilities
Handicaps was established in the
year

(A) 1990

(B) 1980

(C) 1970

(D) 1989

International
and

77. Tafafad § @ SA-T1 Repammar &SR0

78.

79.

80.

w1 wfafiferes war 27
(A) S % THF B T
(B) R

(C) HshHSE W

(D) 37w Wt
faffad § @ SH-a1 9o e SeTE
TR T B7

(a) feriefan wag

(B) =xise

(C) T

(D) ST @+f

wfRere T 2Tgo o THo = 3 B

(A) FEORFT FEAAMARIA ATh HERIAT,
feafsfafe I zeu

(B) 3ZCRHE FEATUGRIA 3T1h Ha,
feafafafe T e

(C) TTTHel FUMhpTA AF Ha,
fesfer T Efedm

(D) 39 | & & T

feafaferfe U fetra & wom =a 557

(A) 1990

(B) 1980

(C) 1970

(D) 1989
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81.

82.

83.

According to WHO any loss or
abnormality of psychological,
physiological or anatomic structure
or function is called

(A) disorder
(B) disease
(C) disability

(D) impairment

Indicate the correct sequence :

(A) Disability,
Impairment

Activity limitation,

(B) Impairment, Activity limitation,
Participation restriction

(C) Impairment, Disability, Activity
limitation

(D) None of the above

Which among the following is a
neurological development related
disorder?

(A) Autism
(B) Learning disability
(C) Both (A) and (B)

(D) None of the above

81.

82.

83.

Tgo TWdo Mo F IYgER el ot
THame R, wis @ d@aeE
WA AT HE I AT @l R

A) Tor (fewerdr)

(B) U (fesfisi)

(C) Tompemmar (feafafafe)

(D) &fd (3Fee)

(A) Teaffafe, tEefafe frm, ez

(B) 3HIGiE, fgefafe fafiesm,
RlITiE RN R = C e

(C) e, fedfafafe, dfRfaf fafeem
(D) 3ugw & 18 T

frfafan & @ F-w e b
Gt foem 37

(A) STTHRZT

(B) W@ i fashermran

(C) <Hi (A) 3R (B)

(D) 3T # F F T
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84. Residual hearing means

85.

86.

87.

(A) the hearing which remains after
an HL with amplification

(B) the memory of sound prior to
the loss of hearing

(C) hearing that remains without
amplification only

(D) sounds at high decibels

Cochlear implant is appropriate for
which degree of hearing loss?

(A) Minimum
(B) Mild
(C) Moderate

(D) Severe to profound

What is ‘Braille’?

(A) Electronic display which
augment VI to ‘screen read’

(B) Tactile O/P to use telephone

system of
read/

(C) A communication
touch that helps to

— review/study, etc:

(D) All of the above

What is ‘Nemeth Code’?
(A) A code for reading maps
(B) Alternative system of Braille

(C) A system of Braille for Mathe-
matics and Science notation

(D) A computer program to help
students to take notes

84.

85.

86.

87.

FafiTe GaTs 1 Haed ?

(A) #EU HERAl & WY 49 TH B qG
ST TS ol g @

(B) GTaTE % M U Ued wal h Wid

(C) #aw & STt et Hau FErar & for
ECilel

(D) A S 37 SHEA W T 7

fre foft & s ol & fog sifEam
TR U &7

(A) —aH

(B) ®r=

(C) weIm

(D) TisfR | Afa MR

‘S T BT 87

(A) TR Yeui S gEEdear B BhA
e’ o T T T ©

(B) 3w ol 3@ wH % fog e
ege

(C) T HT TH TEAR oIt S g/
wHien /uga. anfe # g et R,

(D) vogw &t

“fmor e’ T RY

(A) TR 9G7 % fofg Th hre

(B) Sd i Jehfcaen e

(©) v 3 fogm e F fog 3@ H
HoTTett

(D) I F FRHH S BE H A
i i Heg T ®
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88. Which of the following is an example

89.

90.

of ‘intellectual disability’?

(A) Dyslexia

(B) ADHD

(C) Mental retardation

(D) ASD

Which of the following IQ scores
criteria of DSM-IV-TR represents
mild mental retardation?

(A) 60-65 to 80

(B) 40-45 to 60

(C) 50-55 to 70

(D) 70-75 to 90

Which of the following is not one of
the three characteristic symptoms of
Parkinson’s disease?

(A) Brady kinesia

(B) Diplopia

(C) Tremors

(D) Rigidity

88. Frfafad # ¥ =@ ‘waOfe

89.

90.

ferheTTTTeT’ <1 Teh SETe! 37

(A) Tewifamn

(B) To o Talo o

(C) s Hea (Weet Rersy)

(D) To THo o

o THo THo-HR-o Mo (DSM-IV-TR)

¥ frafafad 1Q @R AMeEt # ¥ HHA-a
el AT Hedn i wfafiRie e 27

(A) 60-65 ¥ 80

(B) 40-45 % 60

(C) 50-55% 70

(D) 70-75 ¥ 90

fefafes § 9 *F-w wReww I %
< T weol § | o e R7

(A) Sl AR

B) frk

(C) HeH

(D) w3RAT
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91. Which of the following is an auto-

92.

93.

immune disease caused by lack of
ACh (Acetylcholine)?

(A) Myasthenia gravis

(B) Multiple sclerosis

(C) Schizophrenia

(D) Dementia

Children with Asperger’s syndrox-ne
differs from classic autism in

(A) not having problem with social
interaction

(B) not having problem with
language and intellect

(C) having stronger symptoms of
autistic disorder

(D) None of the above

At what age ASD can be diagnosed
at the earliest?

(A) 10-12 month
(B) 18-20 month
(C) 24-28 month

(D) 0-3 month

91. THRwHIRF H FH % wrw Frefafaa &

92.

93.

Y HH-T1 A -TYF R Far 7

(a) weafEn A

(B) HeEUS TR

(C) Terafeq weeaman (f&msioean)

(D) 3=

Taeh REW A S wee sitee @
T B §

(A) QTHIRh TUS % | THET T 8
(B) Wi R g 3 Ty wwen 7@ @

(C) ATTeSH % A A9

(D) Sugw & | g T

To THo Fo F fhW 3W U Wee-A-Shea
e foren < wRar 87

(A) 10-12 W&R

(B) 18-20 W&H

(C) 24-28 WA

(D) 0-3 WA
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94,

95.

96.

97.

Which of the following is commonly
seen in people with mood disorders?

(A} Manic depression

(B) Euphoria

(C) Depression

(D) Mania

Which of the following is not a
psychotic disorder?

(A} Schizophrenia

(B) Mania

(C) Dysphasia

(D) Psychotic depression

What is locomotor disability?
(A) Deformity of limbs

(B) Deformity of ear

(C) Deformity of eye

(D) None of the above

All the following symptoms are seen
in depression, except

(A) lethargy
(B) anorexia
(C) insomnia

(D) delusion

94,

95.

96.

97.

fafafas & 9 = g fers-ged
oot @ difea < o <@ S 37

(A) T rEETE

(B) 3cHT®

(C) faHrg

(D) 391

Freafafea 4 @ #9-w @Ak e @
37

(A) Tagfea waepa

(B) 31E

(C) TeawfEmn

(D) "R TR

TR et = 37
() o i foepfa

(B) < #H fepfa

(C) e it farpfa

(D) Wﬁﬁﬁéqﬁ

frefafad § @ ! Biga arhl gt
W& e § Q@ 9 B

() g
(B) 3r=h
(C) Iz
(D) ¥H
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98.

99.

100.

What is the full form of OCD?

(A) Operant Compulsive Disorder

(B) Obstructive Compulsive Disorder

(C) Obsessive Compulsive Disorder

(D} Occupational Compulsive Dis-
order

A person who has more than two

disabilities is known as

(A) disabled person

(B) multiple disabilities

(C) Both (A) and (B)

(D) None of the above

'Which of the following is an exampl(;

of specific learning disabilities?
(A) Mental retardation

(B) Visual impairment

(C) Bipolar disorder

(D) Dyslexia

98. OCD I U &9 F1 &7

(A) wriaTES e TR
(B) a0 el faeR
(C) Tt sl forern

(D) TR STEAHRl @R

99, & ¥ 3Ifes 3 A fowamt =ik 1 Fa

T B

(A) 15H =ik

(B) SgferwarTan

(©) 3 (4) 3 (B)
(D) 35 # & & T

100; F=fafaa § @ w=-w e fwm

&1 T Th I 27
(A) TR Hadl

(B) 3 &

(C) Tage TR

(D) fewifRen
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S1.

52.

53.

Section—V / AW —v

Gain below the knee point in TK
control compression hearing aid is

(A) linear
(B) non-linear
(C) compressed

(D) None of the above

When the volume control is varied in
AGC circuit, then the I-O curve
moves

(A) right and left
(B) up and down
(C) Constant

(D) None of the above

The compression ratio in a linear
amplifier is

A) 1:1
B) 2:1
C) 3:1

(D) 8:1

51.

52.

53.

TK FEta +9wF T sau 39 § § @ re
FfRA BT

(A) e

(B) MR-

(C) e

(D) o # A i T

S Toshodto Wihe #§ alcqm Fga B
@?ﬁ%,?ﬁmﬂ%ﬁqﬁ

(A) = 3R a7 T @
(B) IR iR = =rerar ®
(C) R war?

(D) 3w § A S T

T Wk UTABER F HETE I el
2

A) 1:1
B) 2 :1
€ 3:1

D) 8:1
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54.

55.

56.

Acronym TILL is expanded as
(A) time increase at low level
(B) treble increase at low level
(C) Both (A} and (B)

(D) None of the above

Hearing aid circuit that provides
same amount of gain for all input
levels is known as

(A) AGC
(B) input compression

(C) linear

(D) non-linear

Why does multi-microphone array
used?

(A) To increase directionality

(B) To improve speech intelligibility

(C) To improve signal to noise ratio

(D) All of the above

54. Gim 9W AoMBoudioTHo HI fawaia

55.

fopan T @

(A) 2T TThE T2 @l dEe
(B) 371 ThI T Wl T
(©) It (A) ¥R (B)

(D) 3w # & I T

Haul WEEdl wihe, s wft T W A
A 978 YeH w7, I R w9 # S
ST B 7

(A) To Sfto Hio

(B) F1gE HRITH

(©) a=

(D) W=

56. He-AEH®HA W (multi-microphone

array) W ITNT FT FRa STl §7
(A) Temreneran sige & ferg

(B) et i shvermerar sgM % forg
(C) et g =t ST e % forg

(D) Swgw @t
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57.

58.

59.

60.

Which of the following couplers is
used for electroacoustic
measurement of body level hearing
aid?

(A) HA-1

(B) HA-2

(C) HA-2 with tubing

(D) HA-3

The lowest intensity level at which

compression is activated in a
hearing aid is known as

(A) compression knee point

(B) compression level

(C) compression ratio

(D) compression limiting

Zinc air cells use which of the
following as electrodes?

(A) Silver oxide and zinc

(B) Mercuric oxide and zinc —
(C) Zinc and oxygen

(D) Mercuric oxide and oxygen

Which type of amplifier is also called
as push-pull amplifier?

(A) Class A
(B) Class B
(C) Class C
(D) Class D

57. fafafaa ﬁ Y HA-d1 IR 97 Aad

58.

59.

60.

ST CE| E3l EREALSIEE
(electroacoustic) A & fw Iugm &

AR et 77

(A) TFo To-1 FHYH

(B) THo To-2 HIK

(C) THo Wo-2 HYER T[N & AT

(D) THo To-3 HYEH

T Y e H dgar-R, el @ FH H

T3 # &3 %1 S99 (compression) &
BT 2, el 8

(A) FRE f wrE

(B) FEIETH TR

(C) FHEH TgaTa

(D) HEH €

frp wR St # Frafolee & @ sF-w
FOIFRIE IYART Bl 37

() R siaarss w@

(B) W e W Rk -
(C) Toer o stferfisH

(D) TRHIRH FARE T AaesH
frafafeaa # @ fow 7@ & YRawH=R =
qOI-gel URAHRR off et ST 87

(A) FH A

(B) o9 B

(C) o™ C

(D) ¥ D
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61.

62.

63.

While doing the electroacoustic
measurement of the hearing aid,
which frequencies do we consider for
the calculation of high frequency
average?

(A) 1000 Hz,
(B) 1000 Hz, 2000 Hz, 4000 Hz
1600 Hz, 2500 Hz
1500 Hz, 4000 Hz

1500 Hz, 3000 Hz

(C) 1000 Hz,

(D) 1000 Hz,
According to ANSI S3-22, for
calculating the frequency range of
the hearing aid, how much dB below

the high frequency average do we
consider?

(A) 20 dB below

(B) 15 dB below

(C) 7 dB below

(D) 6 dB below

A patient has been identified with

normal hearing bilaterally through
1500 Hz with a sharply sloping

-sensorineural hearing -loss in the-

frequency range above 1000 Hz. The
most appropriate system of
amplification is

(A) binaural completely in the canal
hearing aids

(B) RITE aid with an open ear fitting

(C) binaural BTE hearing aid with
occluding ear moulds

(D) in the ear aids with no venting

61.

62'

63.

FH H TR F TALCHSLH HY
T 3= omgh sima Feen % fag
-9 @ Mg | AR o=@ €7

(A) 1000 Hz, 1500 Hz, 3000 Hz

(B) 1000 Hz, 2000 Hz, 4000 Hz

(C) 1000 Hz, 1600 Hz, 2500 Hz

(D) 1000 Hz, 1500 Hz, 4000 Hz

afEs AvFw Wed WM (ANSI)
S3-22 ¥ IIFER U 4 H gy
$ T 3= gy ofwa ¥ frew e
9w far W= 87

(A) 20 dB N
(B) 15 dB =
(C) 7 dB ™
(D) 6 dB 7=

1500 TS % WA | Th WS hl Qs
Rl gWrE Fao Wike H 1000 WS

IR A oemgh ARt { <y Fedega

g (sharply sloping sensorineural
hearing loss) B 3, &1 ®EH 3TN
T Y T I9TH T T 87

(A) I s T F qul fgoll @

B) T o @ T F W™
3Ro3Mgodtog0 (RITE) J7 TIHI

(C) @ Fof W1 % |y A HH
% foREs-2-33R av I3 STl

(D) o fosx Shgem o= & @
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64.

65.

66.

67.

Which of the following is
component of BAHA?

not a

(A) Titanium fixture
(B) Titanium abutment
(C) Transmitter

(D) Sound processor

Which of the following is not an
advantage of using binaural hearing
aids in bilateral hearing loss?

(A) No acoustic feedback

(B) Elimination of head shadow
effect

(C) Better speech discrimination

(D) Better sound localization

Which system involves the
transmission of radio frequency
waves?

(A) Hardwire system
(B) Frequency modulation system
(C) Infrared system -

(D) Induction loop system

The phenomenon in which the
sound continues in the room
because of its reflection is known as

(A) vibration
(B) echo
(C) reverberation

(D) background noise

64.

65.

66.

67.

Freffaa § @ -1 flo To W™ o To
(BAHA) 1 T U2 7€l 87

(A) ergetam feral (Titanium fixture)
(B) wrgefam i

abutment)

(C) TR (Transmitter)
(D) a1 ¥sHe (Sound processor)

Sl aitRar # ool saur 93 F ST
w0 # afafea # ¥ SHF-T ww w™
€ 77

(A) w1 i fifea T

(B) SH@ SHET AN =1 3™

(C) Sg 9T 9g9H (discrimination)
(D) SER & THFHE (localization)
FH-H yomet e gl aon % d=er |
i 87

(A) TEERR woIelt

(B) 3 AregRIT woreht

(C) FHRS woredt

(D) ST 9Tt Yot

g q=u, el @i o wEds &

FR A I A Y, HE Aw & I Sl
¥

(A) TSN
(B) ¥

(C) EEEA
(D) ufIET TR

(Titanium
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68. The assistive device which is widely
useful in auditorium and public
forums is

(A) infrared system
(B) hardwire system
(C) alerting -device

(D) None of the above

69. Which of the following is not an

example of alerting device?
(A) Directional microphone
(B) Strobe light doorbell
(C) Vibrotactile wristband

(D) Pillow vibrator

70. is the classroom amplification

system which uses a magnetic field.
(A) Frequency-modulated system
(B) Induction loop system

(C) Hardwire system

(D) All of the above

71. Which group of systems has the
disadvantage of overspill of signal
between adjacent classrooms?

(A) Induction loop system
(B) Hardwire system
(C) Both (A) and (B)

(D) None of the above

68.

69.

70.

71.

HEEH TR, S GAFR 3R HiESH6
T § e ®9 4 IwEf R, R

(A) FHRS Fomet

(B) TTEARR JorTe!

(C) umfdn feamed

(D) Suge & ¥ g T

Frafafga & @ fF-w feawa e @
T Th I E 87

(A) TRemenes AEREE

(B) @awmqa

(C) TTHTREH Helré e

(D) aferan aTgsieX

e vada Yoelt R, ST gk &
T I @l B

(A) Imfi-mrefera Someh
(B) SROT 9IRT WOTTeAt

(C) SRR Soet

(D) I et

el & 60 TR % UM EE w41 %
o= fomet % e 1 gHaH B 87

(A) SRoT UTET oIt

(B) TTSamR YUt

(C) i (A) 3R (B)

(D) 30 # | =g T
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T2.

73.

74.

75.

Assistive listening devices (ALDs) are
mainly useful for

(A) telephone communication

(B) enjoyment of radio and
television
(C) communication of = alerting

signal and situation
(D) All of the above

The factor which will not be affected
a listener access to auditory
communication in group
amplification system is

(A) the level of sound source

(B) the amount and type of
background noise in the room

(C) quiet room without echo

(D) the distance between sound
source and listeners

What are the primary goals of

assistive listening devices (ALDs)?

(A) Maintain favorable signal to
noise ratio

(B) Provide wide frequency
amplification with a minimal
degree of distortion

modified to meet the hearing
needs of the individual

(D) All of the above

Hardwire systems are

(A) hearing aid dependent systems

(B) hearing aid
systems

(C) Both (A) and (B)

(D) None of the above

independent

(C) Allow the acoustic signal to be

72. UEHE GAATE UV T6T €9 ¥ I9ARt 7

730

74.

75.

(A) EfER F=R % fog

(B) fea wd ehfemm & a1me & forg
(C) Jamart weha i fIfy ¥ & forg
(D) IWrE asfi

qT HR&, A WE vaUq en § sEwm
TR T A1 g9 1 wwTfra TE wom }
(A) = i H 'R

(B) ®mW ¥ uftey TR i AFT 3R IHR
(©) S = fom wrd

(D) i & 3R ar & o= A g
WS G ST (ALD) % wufie
AT F 87

(A) TR 3R &S % ITA H IIERA
TG T

(B) =9 SAgfd e & | foewur H
i 0t oft %8 @

(C) =fth HI FHATE MEAWEHAA H T
FH & fau e fma-w anfa
F h AN T

(D) W et

TrearR fowen #

(A) #EvT I3 3T Joreht
(B) 191 I AT T
(C) 3 (A) 3 (B)

(D) 3w # & w18 T
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76.

717.

78.

The charge Q present in a capacitor
is given by the relationship

A) Q=C/V

(B) Q=CV
€) ©==CV?
~
(D) Q =2CV

If the resistance of a material falls
with increasing temperature, it is
said to have

(A) negative temperature coefficient
(B) positive temperature coefficient
(C) zero temperature coefficient

(D) infinity temperature coefficient

Two resistors each of 220Q are
connected in parallel. The resistance
of the combination-will be-

1

W 110 %

1
B) — Q
()220

(C) 110Q

(D) 220 Q

76‘

77.

78.

T GuRE A I Iaw w1 36 GeY
BT ®

@A) e=C/V

B) 0=CV
€ Q=1cv?
2
(D) Q =2CV
IR frel wefmar &t wfekierrar aue™ SQTq
ST ¥ FH AN 2, 9 3H % Sl @
(A) TTHRIHSH AIHA 0T
(B) HehTOHsh ATIHT 0T
(C) [ AIGHH o7 -
(D) SFid AYHM U1

3 yRAY, &% 220 Q, H FHFR S
SR, A FA wEE Ty g

(A) _Lg
110

(B) 1 Q
220

(C) 1109

(D) 220 Q
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79.

80‘

81.

The capacitance increases with

(A) increase in plate area

(B) decrease in plate area

(C) increase in distance between the
plates

(D) increase in density of material

The inductance of a coil depends
upon

(A) number of turns

(B) relative permeability of the core
material

(C) area of cross-section

(D) All of the above

The power transformer is a constant

(A) voltage device

(B) current device

(C) main flux device

(D) power device

79. ¥fw Tga 2
(A) = TR TgH @
(B) W Tl %9 W
(C) =¥l & o il gt JgM ¥

(D) RIS FT T TG |

80. TR FI TSHed R & 7
(A) gAE! HT TS W
(B) R Gt I AU IR R
(C) HE-TRH % & W

(D) SR asft

81. WW@@I_%IW
(A) et fearga
(B) = feamgm
(C) F&a wae feamew

(D) uieR feama
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82.

83.

84.

85.

In a transformer, the resistance
between primary and secondary
binding is

(A) 0Q
(B) 19
(C) =Q

(D) 1000 Q

Magnetic flux has the unit of
(A) newton

(B) weber

(C) ampere

(D) tesla

Inductor does not allow the sudden
change of

(A) current
(B) voltage
(C) power

(D) None of the above

Electric flux is proportional to

(A) potential difference between

electrodes
(B) resistivity of medium

(C) rate of change of potential
difference

(D) rate of change of current

82. TH AW % WEgwll iR Yapved wwEfeT %

e <1 wferierspan B @
(A) 0Q
B) 12
(C) =

(D) 1000

83. YhT TATE H THE T B

(A) A
(B) I
(C) YR
(D) @l

84. W& TEWF TiEdd Y orgwfa g a1 R

(A) R
(B) dleet i
(C) diat h

(D) ST | & &I e

85. forgq v STgie B

(A) orEEl ¥ s i %
B) wfemm i wfedewar
(C) Tavaie § uRada A R *
(D) e ¥ yiEd i X F
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86.

87.

88.

89.

If the temperature of crystal diode
increases, then leakage current

(A) remains same
(B) decreases
(C) increases

(D) becomes zero

A Zener diode is used as
(A} an amplifier

(B) a voltage regulator
(C) a rectifier

(D) a multivibrator

A p-njunction which radiates energy
as light instead of heat is called
a/an

(A) LED

(B) photodiode

(C) photocell

(D) Zener diode

The arrow in the symbol of
transistor indicates the direction of

(A) electron current in the emitter
(B) electron current in the collector
(C) hole current in the emitter

(D) donor ion current

86.

87.

88.

89.

Tored Srie &l a9H FgM W el e
(A) HHM & ?

(B) Heam ®

(C) wer @

(D) ¥ B 9§

SIS i e I BT B
(A) T YFCTHRR

(B) T s Tk

(C) Rl (remR)

(D) SgH (Fedari)

Th p-n SRFA 5@ T H I THFW F
w9 3 TSl ScaRia Lal 8, Q1 FEA 2

(A) Q?«{ogoﬁo

(B) BRISHIS

(C) R

(D) R TAErE

iR & et ® ofR s feme $f e
2

(A) Fhe ¥ sogt vare i feam

(B) Tt H geiag W <Al feum

(C) T # B &g &t famm

(D) 1T A o Yarg 6t fomm

8201/ND-STR/RCE-M/10-C

SPACE FOR ROUGH WORK / & &M % T g

68



23.

. A heat sink is generally used with a

transistor to

(A) increase the forward current
(B) decrease the forward current
(C) compensate for excessive doping

(D) prevent excessive temperature
rise

. A transistor amplifier has high

output impedance because
(A) emitter is heavily doped
(B) collector has reverse bias

(C) collector is wider than emitter or
base

(D) None of the above

. When transistor amplifier is
operating, the current in any
branch is

(A) sum of AC and DC

(B) DC only

(C) AC only

(D) difference of AC and DC

JFET is also called

(A) unipolar transistor
(B) bipolar transistor
(C) unijunction

(D) None of the above

90. & T2 i w1 TR & g gHq:

91.

ot T ST @

(A) wEE e i gfg % fag

(B) Wit i § wHt % g

(€) wrafs St B W FA F g
(D) et qUWE Fg ¥ F9M % g
T gt URAwRER H Iseye TS
I B 8, Hih

(A) 3R e Dft are gt @

(B) o faadia srafée =1 o @

(C) FoFe hi e, T I 39 q =T
BT 3

(D) ST® A A IS T

92, & Zfr YRAHRR % Fa 3, < foedll

93.

off TrEn # e A g

(A) AC 3R DC 31 #1 am
(B) =@ DC

(C) =@ AC

(D) AC 3R DC &1

JFET ! gl STl ©

(&) Fhurer R (THyET)
(B) fagea gifsrr

(C) T

(D) 3T® H @ Hg T
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94. The pinch-off voltage of a JFET is

95.

96.

97.

about

(A) 0-6V
B) 5V

(C) 15V

(D) 25 V

Another name of MOSFET is
(A) many gate JFET

(B) open-gate JFET

(C) insulated gate JFET

(D) shorted gate JFET

The time taken for the compressor to
react to an increase in signal level is
referred to as the

(A) release time
(B) attack time
(C) adaptive release time

(TD) None of the above

In general attack time for hearing
aid is

(A) 5 sec
(B) 500 sec
(C) 5 min

(D) 5 msec

924.

95.

96.

97.

T JFET $ fig-211% dees i 3
(A) 0-6V

(B) 5V

(C) 15V

(D) 25 V

MOSFET 1 g8 919 &

(A) B A o Tho 3o o

(B) N4 T2 o Tho 3o Ho

(C) YRS e Sto TWho Fo Fo

(D) TIeE 2 o Tho 3o o

R w= & gfg = ufafen =0 &

TR ™MEmH . Fw
% wehifa for smar 1

(A) Teftg ez

(B) e 2R

(C) srggett Tt 2rgm

(D) Swh # § Fd 7

HAU FEEA1 A % I | s 2w
?

(A) S sec

(B) 500 sec

(C) 5 min

(D) 5 msec
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Transistors can be made up of
which type of technology?

(A) Bipolar and CMOS
(B) Integrated circuit
(C) Diodes

(D) None of the above

. The difference between output and

input is
(A) UCL
(B) MPO
(C) Gain

(D) None of the above

When fitting the hearing aid, it is
important to keep MPO below the

(A) Gain
(B) UCL
(C) MCL
(D) DR

(D) None of the above

98, R fhg YR N awdis A w1 THa

99,

100.

&7

(A) Ry ok Pommositongo
(B) whipa TRy

(C) sHrR

(D) 3ugwh # | =I5 T

RETY2 3R FYE F A9 FI FR R
(A) o o Teto

(B) Wie Ho 3o

©) &

(D) 3% H 4 IS T

mmqﬁﬁﬁwm@oﬁoaﬁo
=1 foraeh e T wegul R7

(A) ™
(B) ELo '{-ﬁo To
(C) o Hio Tdo

(D) So3o
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